Software Engineering

AT EQO]ZTIHE | Teams

Coffee Machine System

201301350
201414133
201414135
201414137

aN rp
2 ox
44 ot

o
okl

FX |

k=3
o

ox
rot

»

Team 4



Software Engineering

[ Contents ]

001 H|AE A}

Team 3 EH|AE &A1}

002 CH-S At

CHS2hs

003 XtN| HIAE
Test Case / Result

004 A|A

Team 4



Software Engineering

01 BIAE E0}

Team3 H|2E Z¥}

CMS.STC.000.000~007

CMS.STC.001.000~004

CMS.STC.002.000, 001

CMS.STC.003.000~004

CMS.STC.004.000

CMS.STC.005.000, 001

HIO| M= HAE

M= 2R HAE

HAJ|s HAE

oflef 715 HIAE

« Fail : 2212 BE A| ¥47|5 A3

* [2016SE_A][4][T3]STR_T4 &=

Pass

Pass

Fail (.001)

Pass

Pass

Pass

Team 4



Software Engineering

ez QY

2) STDZ|4t

1) 24| HIAE 3) AARE

S al] A
U 2 2ol HAL Y 2%

Team 4



1) AtA| HIAE T Za} =l

& /SE/T4/handle.exe

SENSOR STATE : (T /D /B /W / C):
IRASH CLLIMLINATE 7/ Z77INFUTTDUST / 3. ADD BEANS / 4. ADD WATER / 5. SET CUP / 6. GET COFFEE
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02 chEAhg 2) STD ~ Source Code =9I

(NULL) ] Tick[ W_Time == time(NULL) ]
/status = "Ready”
|

"Ready" ] Tick[ WD >= 500 ]

//W Time = time(NULL) + 10

//status = "Clean"

//Trigger "Clean Procedure"
Tick[ Set_D.mode == Clean ]
//status = "Check"

Tick[ WD >=500 ]

Tick[ WD < 500 ]
//err msg = "Water”

//Trigger User Call
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02 chg At

(setD.mode == Clean) {
( WSI() < 500){
userCall("water");

(1)

{

printf("Water: %d\n", WSI());
sleep(WAIT);
(WSI() >= (setD.set.con))
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(setD.mode == Clean) {
( WSI() < 500){
userCall("water");
(1)
{

printf("Water: %d\n", WSI());
sleep(WAIT);
(WSI() >= CW)
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Test Case / Result

Test Identifier Result
CMS.STC.000.000 2 HE A "HAI|S Ml Pass (200 / 200)
CMS.STC.000.000 £ 500ml A| HAT|S AlsH Pass (500 / 0)

CMS.STC.000.000 £ 600ml A| HAT|S AlsH Pass (600 / 100)

&l /SE/T4/MCC.exe /SE/T4/MCC.exe /SE/T4/MCC.exe

19 19 19
2 100 1 1480821184 2 100 1 1480821243 2 100 1 1480821345

0
0 0
popQueue ()
: , popQueue () popQueue ()
T onbeR. = 2 100 1 1480821184 NOW ACCEPT ORDER. : 2 100 1 1480821243 [EMNOW ACCEPT ORDER. : 2 100 1 1480821345
. 200 CLEAN NOZLE RUN HEREREREREERE CLEAN NOZLE RUN HERREEERTERERE

> 200 complete complete
: 200
1 200
1 200




A

b z




